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1. Ildentify the class interval table for the given histogram.

Frequency +—»
= [

PR L MW WIS
L =

64 | 68 | 72 | 76 | 80 | 84

Class-Interval  s———n

Class-Interval |64 - 68|68 -72|72-76|76-80|80 -84
Frequency 137 144 110 87 130

(i)

Class-Interval |64 - 68|68 -72|72-76|76-80|80 -84

i
(i Frequency 137 144 106 87 130

Class-Interval (|64 - 68|68 -72|72-76|76-80|80 -84
Frequency 137 110 144 87 130

(iii)

Class-Interval |64 - 68|68 -72|72-76|76-80|80 - 84

iv
() Frequency 137 130 110 87 144

Class-Interval |64 - 68 |68 -72|72-76|76-80|80 -84

v
V) Frequency 137 141 110 87 130




In a study of heart patients, the following observations are obtained. Identify the class interval table for the given
" histogram.

Y

No, of Patients
o
[==]

S TR O 61 B 3R HA

Age (in years) s————»

Age (in years) [57-59|59-61|61-63|63-65|65-67

) "No. of Patients | 31 47 20 24 18

Age (in years) |57-59|59-61|61-63|63-65|65-67
No. of Patients| 31 18 25 24 47

(if)

Age (in years) |57 -59|59-61|61-63|(63-65(65-67

iii
(i) No. of Patients 31 51 25 24 18

Age (in years) |57-59|59-61(61-63|63-65|65-67

iv
(iv) No. of Patients 31 25 47 24 18

Age (in years) [57-59|59-61|61-63|63-65|65-67
No. of Patients| 31 47 25 24 18

(v)




3. ldentify the class interval table for the given histogram.

Y
----- 504
|
|
L 45
|
[
40
|
[
----- 35
|
n [
H 30
@ |
=
= [
£ |25
5
2 |20
|
----- 15
|
|
----- 10
----- 5
L X
48 |50 | 52 | 54 |56 | /58

Weight (in kg) s—ex

Weight (in kg) (48 -50|50-52|52-54|54-56|56-58
No. of students 11 11 15 8 23

(i)

Weight (in kg) |48 - 50|50 -52|52-54|54-56|56-58

1) "No. of students| 11 11 18 8 23

Weight (in kg) (48 -50|50-52(52-54|54-56|56-58
No. of students 11 16 15 8 23

(iii)

Weight (in kg) (48 -50|50-52|52-54|54-56|56-58

iv
(iv) No. of students 11 23 15 8 11

Weight (in kg) (48 - 50|50 -52|52-54|54-56|56-58

v) No. of students 11 15 11 8 23

4. A histogram consists of

(i) triangles (ii) squares (iii) rectangles (iv) sectors

5. The width of the rectangles in a histogram represents

(i) mid values of the class (ii) frequency of the class (iii) number of classes (iv) class interval

6. In a histogram

(i) the length and width of each rectangle are in proportion (ii) the width of all rectangles are equal

(iii) the lengths and widths of all rectangles are equal (iv) the lengths of all rectangles are equal



7.

Identify the class interval table for the given histogram.

Frequency e—e»

845 895 9

951 |

(i)

(if)

(iii)

(iv)

(v)

451995 (104.5(109.5] |
i i i e
Class-Interval s——s

Class-Interval |85 -89|90-94|95-99|100-104|105 - 109

Frequency 55 129 122 135 109
Class-Interval |85 -89(90-94(95-99|100-104|105-109

Frequency 55 122 129 135 109
Class-Interval |85 -89|90-94|95-99(100-104|105-109

Frequency 55 129 126 135 109
Class-Interval |85 -89|90-94|95-99|100-104|105-109

Frequency 55 109 122 135 129
Class-Interval |85 -89|90-94|95-99|100-104|105-109

Frequency 55 132 122 135 109




In a study of heart patients, the following observations are obtained. Identify the class interval table for the given
" hist

No. of Patients

ogram.

Y

64517051765 | 825|885 (94.51100501065/1125

(i)

(if)

(iii)

(iv)

(v)

Age (in years) s—ex
Age (in years) |[65-70(71-76|77-82|83-88|89-94(95-100|101-106|107 - 112
No. of Patients| 30 20 14 34 13 15 42 30
Age (in years) |[65-70|71-76|77-82(83-88|89-94|95-100|101-106|107 - 112
No. of Patients| 30 20 34 14 13 15 42 30
Age (in years) |[65-70(71-76|77-82/83-88(89-94|95-100|101-106|107 - 112
No. of Patients| 30 20 36 14 13 15 42 30
Age (in years) (65-70(71-76|77-82|83-88|89-94|95-100|101-106(107 -112
No. of Patients| 30 20 34 14 18 15 42 30
Age (in years) [65-70|71-76|77-82(83-88/89-94(95-100|101-106|107 - 112
No. of Patients| 30 30 34 14 13 15 42 20




9.

Identify the class interval table for the given histogram.

Y
----- 504--
|
|
45
|
[
40
|
[
----- 35
|
£ |30
LY |
o i
*‘E ----- 25
bl i
g |0
|
----- 15
|
|
----- 10
------- 5
B
19512351275 13151355 139514351475 |
jEl s e s e iom e e i e
Weight (in kg) s——ap
(i Weight (in kg) (20-23(24-27|28-31|32-35|36-39(40-43(44-47
i
No. of students 10 6 10 19 24 6 8
(i) Weight (in kg) [20-23|24-27|28-31(32-35(36-39(40-43|44-47
ii
No. of students 10 10 1 19 24 6 8
(i) Weight (in kg) (20-23(24-27|28-31|32-35(36-39(40-43|44-47
iii
No. of students 10 8 6 19 24 6 10
(iv) Weight (in kg) [20-23|24-27|28-31|32-35|36-39(40-43|44-47
iv
No. of students 10 10 6 22 24 6 8
W) Weight (in kg) |20-23|24-27|28-31|32-35|36-39(40-43(44-47
Y,
No. of students 10 10 6 19 24 6 8




10. Heights of 145 students (in cm) are given below. Identify the class interval table for the given histogram.

Y

No, of students

120 1127 1134 1141 | 148 | 155 |

1162 |

(i)

(if)

(iii)

(iv)

(v)

Hei

ght {in cm)

o—%

Height (in cm)

120 - 127

127 - 134

134 - 141

141 - 148

148 - 155

155 -162

No. of students

16

18

44

20

42

7

Height (in cm)

120 - 127

127 -134

134 - 141

141 - 148

148 - 155

155 -162

No. of students

16

7

42

20

42

18

Height (in cm)

120 - 127

127 -134

134 - 141

141 - 148

148 - 155

155 -162

No. of students

16

42

18

20

42

7

Height (in cm)

120 - 127

127 - 134

134 - 141

141 - 148

148 - 155

155 -162

No. of students

16

18

42

23

42

7

Height (in cm)

120 - 127

127 - 134

134 -141

141 - 148

148 - 155

155-162

No. of students

16

18

42

20

42

7




11. Heights of 129 students (in cm) are given below. Identify the class interval table for the given histogram.

Ne, of students

(i)

(ii)

(iii)

(iv)

Y
—100
|
|
----- 90
|
|
----- 80
|
|
----- 70
|
|
----- 60
|
----- 50
|
40
|
|
----- 30
|
|
----- 20
|
|
----- 10
1265134 5142.5/150.5/158.5{166.5[174.5/1825| |
i T 31131 AT A A8 A 3
Height (incm) s——s—»
Height (in cm) | 127 -134|135-142|143-150|151-158|159-166(167 - 174|175 - 182
No. of students 31 9 18 29 16 15 9
Height (in cm) |127 - 134 |135-142|143-150|151-158|159- 166|167 -174|175-182
No. of students 31 9 15 31 16 15 9
Height (in cm) [127 -134|135-142|143-150|151-158|159-166|167 - 174|175 - 182
No. of students 31 9 18 31 16 15 9
Height (in cm) |127 -134|135- 142|143 -150|151-158|159-166|167 -174|175-182
No. of students 31 18 9 31 16 15 9




12. Heights of 208 plants (in cm) are given below. Identify the class interval table for the given histogram.

Y

Mo, of plants

2941

66

73| 80

87

94 1101 [108 | 115 |1

(i)

(ii)

(iii)

(iv)

(v)

Height {in cm)

——

Height (in cm)

59 - 66

66 - 73

73 -80

80 - 87

87 -94

94 -101

101 -108

108 - 115

No. of plants

15

31

36

18

27

28

28

25

Height (in cm)

59 - 66

66 -73

73 -80

80 - 87

87-94

94 -101

101 - 108

108 - 115

No. of plants

15

31

34

18

27

28

28

25

Height (in cm)

59 - 66

66 -73

73 -80

80 - 87

87 -94

94 -101

101 -108

108 - 115

No. of plants

15

31

36

18

24

28

28

25

Height (in cm)

59 - 66

66 -73

73 -80

80 - 87

87-94

94 - 101

101 -108

108 - 115

No. of plants

15

31

18

36

27

28

28

25

Height (in cm)

59 - 66

66 - 73

73 -80

80 - 87

87 -94

94 -101

101 -108

108 - 115

No. of plants

15

25

36

18

27

28

28

31




13. Heights of 205 plants (in cm) are given below. Identify the class interval table for the given histogram.
Y

Mo, of plants
v
)

50.5] 565|625 685745 |805865]925 |

Height (in cm) s———a

Height (incm) |51 -56|57-62(63-68(69-74|75-80(81-86|87-92
No. of plants 15 47 34 34 29 38 8

(i)

Height (in cm) |51 -56 |57 -62|63-68|69-74(75-80(81-86|87-92
No. of plants 15 34 8 34 29 38 47

(if)

Height (incm) |51 -56|57-62|(63-68|69-74|75-80(81-86(87-92
No. of plants 15 8 34 34 29 38 47

(iii)

Height (in cm) |51 -56 |57 -62|63-68|69-74(75-80(81-86|87-92
No. of plants 15 8 34 32 29 38 47

(iv)

Height (incm) |51 -56|57-62|63-68(69-74(75-80/81-86|87-92
No. of plants 15 8 30 34 29 38 47

(v)




14. Ages of 199 students (in years) are given below.ldentify the class interval table for the given histogram.
Y

Ne, of students
¥
L)

Y16 | 221 28 |34 ] 40 | 46 | 52 | 58"

Age (in years) s——sp

Age (in years) |16-22|22-28|28-34|34-40|40-46|46-52|52-58
No. of students 38 10 19 48 31 44 9

(i)

Age (in years) |16-22|22-28|28-34|34-40|40-46|46-52|52-58

ii
(i) No. of students 38 9 19 48 31 44 10

Age (in years) |16-22|22-28(28-34|34-40(40-46|46-52|52-58
No. of students 38 10 16 48 31 44 9

(iii)

Age (in years) |16-22(22-28|28-34|34-40(40-46|46-52|52-58

(V) "No. of students| 38 19 10 48 31 44 9

Age (in years) |16-22|22-28(28-34|34-40|40-46|46-52|52-58
No. of students 38 10 19 45 31 44 9

(v)




15. Ages of 169 students (in years) are given below.ldentify the class interval table for the given histogram.
Y

No, of students
U
L]

13511195255 315: 375435

Age (in years) s———sn

Age (in years) (14 -19|20-25/26-31|32-37|38-43
No. of students 24 26 43 46 33

(i)

Age (in years) [14-19|20-25/26-31|32-37|38-43

() No. of students| 24 26 40 46 33

Age (in years) |14 -19|20-25|26-31|32-37(38-43

(i) No. of students 24 33 40 46 26

Age (in years) |14-19|20-25|26-31(32-37|38-43

iv
(iv) No. of students 24 40 26 46 33

Age (in years) [14-19(20-25|26-31|32-37|38-43

Y,
v) No. of students 24 23 40 46 33




16. Scores of 231 students are given below. Identify the class interval table for the given histogram.

No, of students

(i)

(ii)

(iii)

(iv)

(v)

Y
100
|
|
----- 90
|
|
----- 80
|
i
----- 70
|
|
----- B0
|
_____ ;5 0
o
[
----- 30
|
|
----- 20
|
|
----- 10 :
889? 1061115 1124 1133 {142 1151 160“
38 e e e st e e i e
SCore s——
Score 88-97|97-106/106-115|115-124|124-133(133-142|142-151|151-160
No. of students 8 39 30 7 26 24 49 43
Score 88-97(97-106|106-115|115-124|124-133|133-142|142-151|151-160
No. of students 8 39 33 7 31 24 49 43
Score 88-97|97-106|106-115|115-124(124-133|133-142(142-151|151-160
No. of students 8 39 30 7 31 24 49 43
Score 88-97(97-106|106-115|115-124|124-133|133-142|142-151|151-160
No. of students 8 43 30 7 31 24 49 39
Score 88-97(97-106/106-115|115-124|124-133|133-142|142-151|151-160
No. of students 8 39 7 30 31 24 49 43




17. Scores of 106 students are given below. Identify the class interval table for the given histogram.

No, of students

(i)

(if)

(iii)

(iv)

(v)

Y
y, 4
—llt][!
|
----- 50
|
|
----- 80
|
----- 70
|
|
----- 60
|
----- 50
|
40
|
|
----- 30
|
----- 20
|
----- 10
.
86.5.{935(1005[107.5/114 5/121.5] 17 |
A T
SCOrg s
Score 87-93|/94-100/101-107,108-114|115-121
No. of students 23 18 27 19 24
Score 87-93(94-100|101-107|108-114|115-121
No. of students 23 24 27 19 13
Score 87-93/94-100(101-107(108-114|115-121
No. of students 23 27 13 19 24
Score 87-93(94-100|101-107/108-114|115-121
No. of students 23 13 30 19 24
Score 87-93|/94-100/101-107/108-114|115-121
No. of students 23 13 27 19 24




18. Rainfall of 112 days (in mm) are given below.ldentify the class interval table for the given histogram.
b

No. of days

11 17 23 | 29 | 35 | 41 | 47

Rainfall {in mm)} s————a—

Rainfall (in mm) |11-17(17-23|23-29|29-35|35-41|41-47
No. of days 6 17 36 30 16 11

(i)

Rainfall (in mm)|11-17|17-23|23-29|29-35|35-41|41-47

ii
o No. of days 6 32 17 30 16 11

Rainfall (in mm) (11 -17|17-23|23-29|29-35|35-41|41-47
No. of days 6 17 32 34 16 11

(iii)

Rainfall (in mm)|11-17|17 -23|23-29(29-35|35-41|41-47
No. of days 6 11 32 30 16 17

(iv)

Rainfall (in mm) |11-17(17-23|23-29|29-35|35-41|41-47
No. of days 6 17 32 30 16 11

(v)




19. Rainfall of 161 days (in mm) are given below.ldentify the class interval table for the given histogram.
Y

No. of days

115185255 325395 465]

Rainfall {in mm) e———a—p

Rainfall (in mm) |12-18|19-25|26-32|33-39|40- 46
No. of days 11 44 31 49 31

(i)

Rainfall (in mm) |12 -18|19-25(26-32|33-39/40-46
No. of days 11 31 31 49 39

(if)

Rainfall (in mm) |[12-18(19-25|26-32|33-39|40 - 46
No. of days 11 31 39 49 31

(iii)

Rainfall (in mm) | 12-18|19-25|26-32|33-39|40- 46
No. of days 11 39 31 49 31

(iv)

Rainfall (in mm)|12-18|19-25|26-32|33-39(40-46
No. of days 11 39 28 49 31

(v)




20. Temperatures of 122 days (in °C) are given below. Identify the class interval table for the given histogram.

No. of days

D7 R R A A Tl

Temperature (in degreg) s——s2

Temperature (in degree) |27 -32(32-37(37-42|42-47|47 -52
No. of days 29 10 14 37 29

(i)

Temperature (in degree) |27 -32|32-37(37-42(42-47 |47 -52
No. of days 29 29 17 37 10

(if)

Temperature (in degree) |27 -32(32-37(37-42|42-47 |47 -52
No. of days 29 6 17 37 29

(iii)

Temperature (in degree) |27 -32|32-37|37-42|42-47|47 -52
No. of days 29 10 17 37 29

(iv)

Temperature (in degree) |27 -32(32-37(37-42|42-47 |47 -52
No. of days 29 17 10 37 29

(v)




21. Temperatures of 284 days (in °C) are given below. Identify the class interval table for the given histogram.

No. of days

325 415505565 | 685775 86,5955 |1045]

Temperature {in degree) s——p

Temperature (in degree) |33-41(42-50(51-59|60-68|69-77|78-86|87-95|96-104

i
W No. of days 35 44 39 8 49 36 40 37

Temperature (in degree) |33 -41|42-50|51-59(60-68|69-77|78-86|87-95|96-104
No. of days 35 44 8 35 49 36 40 37

(ii)

Temperature (in degree) |33-41(42-50(51-59/60-68|69-77|78-86|87-95|96-104
No. of days 35 44 35 8 47 36 40 37

(iii)

Temperature (in degree) |33 -41|42-50/51-59|(60-68|69-77|78-86|87-95|96-104

iv
(iv) No. of days 35 44 35 8 49 36 40 37

Temperature (in degree) |33-41(42-50(51-59|60-68|69-77|78-86(87-95|96-104
No. of days 35 37 35 8 49 36 40 44

(v)




22. Weights of 120 students (in kg) are given below.ldentify the class interval table for the given histogram.
b

S
=
=

No, of students
U
[==]

iSOl 670 i7S 83 a1l a9

Weight (in kg) s——a—n

Weight (in kg) [51-59|59-67|67-75|75-83|83-91|91-99
No. of students| 25 11 38 12 11 23

(i)

Weight (in kg) |51-59(59-67|67-75|75-83|83-91|91-99

ii
(i) No. of students 25 38 11 12 11 23

Weight (in kg) |51-59(59-67|67-75|75-83|83-91|91-99
No. of students 25 38 11 17 11 23

(iii)

Weight (in kg) [51-59(59-67|67-75|75-83|83-91|91-99

(V) No. of students 25 38 6 12 11 23

Weight (in kg) |[51-59|59-67(67-75|75-83(83-91|91-99
No. of students 25 23 11 12 11 38

(v)




23. Weights of 262 students (in kg) are given below.ldentify the class interval table for the given histogram.

No, of students

(i)

(ii)

(iii)

(iv)

(v)

Y
100
|
|
----- 90
|
|
----- 80
|
i
----- 70
|
|
----- B0
|
_____ ;5 0
=
[
_____ ]3 0
..... %
|
|
----- 10 :
595705 | 815 | 925 [1035114.51255 1365 1475
32 e 3 e v e i e e s m a0
Weight (in kg) s——
Weight (in kg) [ 60-70|71-81|82-92|93-103|104-114|115-125|126-136|137 - 147
No. of students 38 23 39 21 50 42 6 43
Weight (in kg) [60-70|71-81|82-92|93-103|104-114|115-125|126-136|137 - 147
No. of students 38 23 21 39 50 42 6 43
Weight (in kg) ([60-70(71-81/82-92(93-103(104-114|115-125|126-136(137 - 147
No. of students 38 43 39 21 50 42 6 23
Weight (in kg) [60-70|71-81|82-92|93-103|104-114|115-125|126-136|137 - 147
No. of students 38 23 44 21 50 42 6 43
Weight (in kg) [60-70|71-81(82-92|93-103|104-114|115-125|126-136(137 -147
No. of students 38 23 39 21 47 42 6 43




24. Daily wages of 182 labourers (in X) are given below.Identify the class interval table for the given histogram.

b
--100
|
|
----- 90
|
|
----- 80
|
i
----- 70
|
£ 60
S B
s |
2 50
s
g [40
2 |
..... 50
|
|
----- 20
|
|
----- 10
211 | 219 | 227|235 | 243 | 251 | 259 | 267 | 275 |
R ] el e el e e e
Daily wage (in Rs)  s——a—p
" Daily Rage (in 1511219219227 227 - 235235 - 243|243 - 251|251 - 259 | 259 - 267 | 267 - 275
|
No. of labourers 35 30 24 15 16 35 5 22
i) Daily Rage (in 1511.219/219-227 227 - 235|235 - 243|243 - 251|251 - 259 | 259 - 267 | 267 - 275
I
No. of labourers 35 22 15 24 16 35 5 30
i Daily Re S (in | >171.219]219-227|227-235(235- 243|243 - 251|251 - 259|259 - 267 | 267 - 275
11
No. of labourers 35 30 15 24 16 35 5 22
(i) Daily ,‘Q’S"‘)ge (in 1511 -219/219-227|227 - 235|235 - 243|243 - 251|251 - 259 | 259 - 267 | 267 - 275
1\
No. of labourers 35 30 17 24 16 35 5 22
“ Daily Rage (in 1511 .219(219-227|227-235(235- 243|243 - 251|251 - 259|259 - 267 | 267 - 275
Vv
No. of labourers 35 30 15 24 20 35 5 22




25. Daily wages of 238 labourers (in X) are given below. Identify the class interval table for the given histogram.

Y

No. of labourers

2255231.5|237.5]

2435249.5[255.5/261.5[261.5,

(i)

(if)

(iii)

(iv)

(v)

Daily wage (in R5) s——a3p
Daily wage (in Rs) | 226 - 231 (232 - 237|238 - 243|244 - 249|250 - 255|256 - 261|262 - 267
No. of labourers 50 49 9 28 21 37 41
Daily wage (in Rs) [ 226 - 231|232 - 237|238 - 243|244 - 249|250 - 255|256 - 261 | 262 - 267
No. of labourers 50 41 9 31 21 37 49
Daily wage (in Rs) | 226 - 231|232 - 237|238 - 243|244 - 249|250 - 255|256 - 261|262 - 267
No. of labourers 50 9 49 31 21 37 41
Daily wage (in Rs) | 226 - 231|232 - 237|238 - 243|244 - 249|250 - 255|256 - 261 | 262 - 267
No. of labourers 50 49 9 31 21 37 41
Daily wage (in Rs) | 226 - 231 (232 - 237|238 - 243|244 - 249|250 - 255|256 - 261|262 - 267
No. of labourers 50 49 6 31 21 37 41
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